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A: When the savings to be
made are small.



L

R i

“(Ili)l 'il'l l' ' it

||"| .'|”-]»
Hig ,,,,‘;.Wn il

.:l"




A: A natural monopoly






A: Professional Sports
Leagues
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A: By charging different
prices according to the group
to which the buyer belongs
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A: Many companies selling
similar but not 1dentical
products.
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A: Location, advertising,
physical characteristics,
service






A: Consumers will
substitute/buy a rival’s
product



TR .
nment ulates 1t?
TR T

| .'fu‘n. M (I l!) IE; I;’ 'i,{: ii .||‘5 I':::. :

11y
| B4 il

A B

SCTaE '(- J.M N!r,;._ﬂ Il §

11
. 54 AALET Y

gover




A: Some government
regulations over the industry
are eliminated.






A: They work only 1f
members keep to their agreed
output.






A: The company can then
profit from their research
without competition.
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A: There are four:

1. Many buyers and sellers
participate 1n the market
2. Sellers offer identical products
3. Buyers and sellers are well
informed about products
4. Sellers are able to enter and
ex1t the market freely
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A: A single firm supplies all
the output.






A: Airlines, trucking,
banking
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A: A product that 1s the same
no matter who produces it.

Examples: petroleum,
notebook paper, milk, feed
for animals






A: Two to four firms
producing 70 to 80 percent
of the output.






A: It has reduced the start up
Costs
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A: Water, electricity, phone
service
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A: Where marginal cost 1s
equal to marginal revenue.
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A: any factor that makes it
ditticult for a new firm to
enter a market.

Example: To start up a
clothing store you must rent
a building, hire workers, and

buy clothing to sell.
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A: The very competitive
nature of the market they are
In causes them to keep
coming up with the next big
thing 1n order to keep
making profits.
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A: In a monopoly market,
the market price will be
greater than the price 1n a
perfectly competitive market
and the quantity sold will be
less than the quantity sold 1n
a perfectly competitive
market.



Monopoly Market Competitive Market

PRICES

QUANTITY
SOLD
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A: It 1s factors that cause a
producer’s average cost per
unit to fall as output rises.



How much control over
price do companies 1n a
perfectly competitive
market have?



None!

Because many sellers compete to offer
their commodities to buyers, intense
competition forces prices down to the
point where the prices just cover the
sellers’ costs of doing business.



